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Q6. is the synonym of "ASPIRE".

A. Uncertain B. Doubt
C. Hope D. Decline
Q7. isthe antonym of "ALLY".

A. Rival B. Group
C. Supporter D. Affiliate

Q8. Identify the meaning of the idiom in the sentence.
"Let's do a dry run before the final performance™

A. Rehearsal B. Quick match
C. Prepare D. Take a deep breath

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence.
"Parents should tell childs about there responsibilities.”

A. Parents should tell children about their B. Parents should tell children of there
responsibilities. responsibilities.

C. Parents should tell childs about their D. Parents should tell childs about there
responsibilities. responsibilities.

Q10. Complete the sentence by choosing the correct form of the verb given in brackets.

Don't forget to give me a call when you (go) to the gym.

A. gone B. have gone

C. went D. go

Q11. 1942 witnessed the , which is an important milestone in the Indian Freedom
Struggle.

A. Civil Disobedience Movement B. Jallianwala Bagh Massacre

C. Quit India Movement D. Salt Satyagraha
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Q11. 1942 % T o1 ST fof Rl et S ek qeeaqul Hiet ot oo B

A. |3 31a3T Aaree B. Siferaiarell ST aREER

C. ¥IRd D8I 3Gl D. sH% I8

Q12. WhatsApp and have decided to work together to impart digital literacy for

curbing the menace of fake news before the general elections.

A. National Association of Software and Services B. Infosys
Companies (NASSCOM)

C. Tata Consultancy Services (TCS) D. Wipro Technologies
Q12. serewmy 3fit 3, W AT & ves, Bl @Rl ok v & Fge qon fefee arerdr wem w0 % o, are
Tirerert s R 1 S TR R

A. ST TEITATRI 3iTh AlFea’ U Jiad SHufrar B. samIfad
C. TeT Hacedr afadst D. fawr eatotiar

Q13. Who is India's current Union Minister for Environment, Forest and Climate Change?

A. Prakash Javadekar B. Rajyavardhan Singh Rathod
C. Piyush Goel D. Uma Bharati

Q13. v % adwr Sl waieror, 9 3t Stearyg uftad W w82
A. YehTT TGS B. TrogatieT &g Tolg
C. Uy et D. 3AT HRC

Q14. Which of the following members of Gram panchayat is a non-elected representative?

A. Panch B. Sarpanch
C. Secretary D. Sahayak

Q14. ym dumra % fafefad & & @ o1 9ee us R-fatfa stk 22
A. I B. @I9a

C. gfag D. Wg&
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Q15. Haryana came into existence as state of Indian Union.

A. 15t B. 16th

C. 17t D. 20th

Q15. zfemom, wrdi @ % Ts % & § e § s

A. 153 B. 169

C. 179 D. 209

Q16. was Haryana state's first regional party that was formed within six months of
formation of Haryana state

A. Vishal Haryana Party B. Indian National Lok Dal

C. Haryana Janhit Congress D. Haryana Republican Party

Q16. TN T Y TRt At Tt oft R e SRETT TT % e % : W % fiaw i T em

A. faemer gRamom aréf B. HRRT TS ofleh ol

C. gRamon safed &a D. gRamom Ruafserars el

Q17. The assassin of Mahatma Gandhi, Nathuram Godse, was hanged at Central
Jail. The city is also known as the city of scientific instruments.

A. Surajkund B. Karnal

C. Ambala D. Hisar

QL7. werent ieft % ey, Arofw Ted Tzet Siet H i & 7S off) 5| et i AT Ui A
TR ot T ST R

A. TISTFS B. Ao

C. 37&aTelr D. fgar
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Q18. In the Asian Games 2018, held in Jakarta-Palembang, Vinesh Phogat won a gold in 50 kg

freestyle wrestling. Vinesh belongs to district in Haryana.

A. Jind B. Panipat

C. Bhiwani D. Sirsa

Q18. serrat-reimai # srrifer, 2018 wftrar @t #, e wime ¥ 50 frciiomy shrerse et § ot uash Sfiar om foer
g % EEEREEICE]

A. Sfig B. Ir=iga

C. faret D. faar

Q19. Why was Post Graduate Institute of Medical Sciences (PGIMS) in Rohtak recently (March
2019) in the news?

A. Breakthrough research in cancer-causing cells  B. Medical negligence during surgeries in the
Ophthalmology department

C. Vans for free medical checkup camps in rural D. Part of the new building was inaugurated
villages were donated

Q19. ww et weer (wr-2019), v INjee siege i Hfeswha aréw, Uedeh el § forer aore & or?
A. HET-HRE HIRAA3T F A0 sregaens B. sityehr faemmer & Foill o ekt Faifeheear s9am

C. FmioT &¥at & o Rfehear sira R & [T 8T g1 D. AT 81dl o GE 1 Se@mes foham Im o
# & arly o

Q20. As on 14-November-2019, who is Haryana’s Minister for Skill Development and
Industrial Training?

A. Dr. Banwari Lal B. Shri Nayab Singh
C. Smt Kavita Jain D. Shri Mool Chand Sharma

Q20. 14-75ww -2019 e, TfETT T YT fhE 3 sfenfies gfreor w= B 272
A. 3. STaRY oTel B. &Y arae g
C. A Hdar S D. & HeT wie AT
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Q21. A 64-feet-tall statue of Deenbandhu Sir Chhotu Ram was unveiled recently at

, Rohtak.
A. Anwal B. Sampla
C. Basantpur D. Jasia
Q21. drsiyy T Bz Tw 1 64 e St S H T A A, Jeeew § ST fohe T o
A. 3Tad B. e
C. SHaR D. Sffa=r

Q22. The proposed anti-terrorist force, comprising of fit police personnel trained by the NSG

will be called

A. Karna B. Vajra

C. Kavach D. Dhanush

Q22. yeifera sirdehame-Ueht o, e NSG g sférféra @ aferr swfifat shr smifiver fofam smam, o= FAT Y
ST ST

A. FOT B. a3

C. &ad D. &y

Q23. Dada Lakhmi Chand has been given the honour of of Haryanvi Raagni and
Saang.

A. Surya Kavi B. Rashtra Gayak

C. Raagni Sher D. Asthana Kavi

Q23. zrer erat =g F s W ik @ T G faa T )

A. g3 Ffa B. IS¢ ageh

C. WET R D. 37EYTeAT &id
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Q24. , Indian composer and playback singer from Haryana, became famous for the
song "Emptiness"” also known as "Tune mere jaana".

A. Sonu Nigam B. Chand Verma

C. Surendra Verma D. Gajendra Verma

Q24. , B0 % e Aol e i S ured rereh, "wediae T % fore et €1 e R e i
ST % A | oft ST S R

A. Fie T B. dic a#T

C. gig T D. ol gAT

Q25. Which of these awards is NOT related to literature?

A. Guru Vashisht Award B. Mahrishi Vedvyas Award
C. Babu Balmukund Award D. Pt Laxmichand Award

Q25. & & = @1 QR HiiEed § weifa 7 27

A. 9% FTfRISS qIEHR B. HEMY deeara EhR
C. ST STelHFHe TERR D. Ufsd eleHIde EhR
Q26. Hathni Kund Barrage (Dam) is built across __ river.

A. Ghaggar B. Ganga

C. Ravi D. Yamuna

Q26. zorfy dhe Sret (sier) _ Tt 36 e e T R

A. g9 B. e

C. w@r D. IHAT

Q27. Which amongst the following is NOT the Kharif crop of Haryana?

A. Corn B. Jute

C. Bajra D. Groundnut
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Q27. ot & =7 ot woet, ST I T T Baet T 27

A. Her B. S[¢

N

C. STeRT D. HIthell

Q28. Dhosi Hills lie both in Haryana and Rajasthan. It is in which district of Haryana?

A. Faridabad B. Rewari
C. Palwal D. Mahendragarh

Q28. wreft weret, wfmom it TSI IHT TSt § g 21 7w sfamn ¥ fee R § g 27
A. ®ErETe B. Yarsr
C. Yoldel D. #ggIe

Q29. Which one of the following is NOT the geographical feature of Haryana?

A. Yamuna-Ghaggar Plain B. Shivalik Hills

C. Semi Desert Plain D. Dhauladhar range
Q29. w7 & = ©ft e, wfemom o diiifersh e 72 27

A. IHAT-EIIR T Heel B. Rarfore & ggrfsan
C. 3EY-YREART Heret D. giemem gadaTem

Q30. Which winds in Haryana are responsible for rainfall between June and September?

A. South-Western Monsoon Winds B. North-Eastern Monsoon Winds

C. North-Western Monsoon Winds D. South-Eastern Monsoon Winds
Q30. wfeemom # o e o reor S S e 2 ofter srfeer Sieft 22
A. EferoT-afRus Age gard B. 3wR-Ydl AT garv

C. 3TR-YRGH ATHA gare D. gferor-gdf AlTe T gard

December 12, 2019 Page 8 of 28



Haryana Staff Selection Commission

Government of Haryana

Adv. No. 12/2019, Cat No. 09, Computer Instructor,
SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA
Afternoon Session

Q31. What is the age of retirement of high court judges in Haryana?

A. 62 B. 60
C. 58 D. 65

Q31 zferom # s =rrer % = f1 et oy e 87

A. 62 B. 60

C. 58 D. 65

Q32. The of the states have similar powers and functions at the state level as that
of the President of India at Union level.

A. Governor of the state B. Chief Minister of the state

C. Deputy Chief Minister of the state D. Leader of the opposition party

Q32. 757 T W T F % ot Afrepr 31 el B & ST 3y T W WA 3 TS % B 2

A. TS FT T4 B. I &I HEIHA

C. TsF T 3YHEHA D. fagefr aréf &r ar

Q33. The judges of Haryana high court are appointed by

A. Governor of Haryana B. Chief Minister of the Haryana
C. Chief Justice of Supreme Court D. President of India

Q33. gfemn seur =maTer % =TT w a1 s femam it 2

A. RO &1 TsIUTer B. gRAT0T 1 HEIHA

C. afee #araTerd T T ~FaTeier D. $IRd & Isgufd

Q34. Which of the following is NOT a criterion to be eligible under the Dr. Ambedkar Medical

Aid Scheme?
A. Patient suffering from mental diseases B. Annual family income shall not exceed three
lakh rupees
C. Ailment which needs surgery D. Patients belonging to Scheduled Caste /

Scheduled Tribe
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Q34. = § & =9 |1 uHeE, . STeH HhedT SeTdT ASHT % 8d U B % 07T U AeS T 87

A. AATES AT T DT Jh B. ari¥ss TIRaTRS 31T it o 93 & 3118 w787 gief
C. fIHRY 5T T TR Fet FI ST & D. JeTgfd S / g Sietollicl & Heifere i

Q35. State flower of Haryana is

A. Marigold B. Gladiolus
C. Lotus D. Rose
Q35. s =1 T57 Bt 2

A. dier B. @fererar
C. Hd D. et

Q36. Which one of the following is an example of Application software?

A. Compiler B. Microsoft Word

C. Interpreter D. Operating System
Q36. f=fafad § & FiET TReRR SIS FT U 3T 272

A. FEISR B. ATSHIATTC I3

C. TeWH D. 3ifofeer fawen

Q37. What is the objective of Devi Rupak Scheme in Haryana?

A. To increase industrialization in Haryana. B. To introduce advanced methods of agriculture
in Haryana.
C. To educate every girl child in Haryana. D. To stabilize population growth in Haryana.

Q37. sfrmom & 3ot w9 AT T ST F=T 82
A. RO # 3o FY FoTeT| B. gRATUM & HY & SeaAd I HI A FeAT|
C. gRamom # g asfr &1 RAfeaT s D. gRATIT H FTAHEAT g & I [EUT L=l

December 12, 2019 Page 10 of 28



Government of Haryana

Haryana Staff Selection Commission

Adv. No. 12/2019, Cat No. 09, Computer Instructor,
SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA
Afternoon Session

Q38. The dance is done basically in the lunar month of Phalguna and is performed to
celebrate the colourful festival of Holi.

A. Gugga B. Phag

C. Ghoomar D. Jhumar

Q38. TeT el ®9 § GIH % 3o § fram S ¥ o el 3 i e o w o forg R st @

A. aiar B. WIeT

C. T#R D. 3R

Q39. What is the purpose of the option "Autocorrect” in Word?

A. Checks the unwanted spaces between the
words

C. Detects misspelled words and insert correct
spelled word.

Q39. vrez # frrea "l e T IeyT T 2?2
A. ersel & o AaifSa T fr ST AT g

C. ITeTd Il aTer 2TeGT ST TdT oTaTTaT & 3T TEr adel
arer ereg FiEATT T &

Q40. Find the odd-one out in the following:
Skin, Nose, Tongue, Hair

A. Nose
C. Hair

Q40. fr=fafiaa # & TTa F1 == H:
T, AR, S, ST

A. dTh

C. et

December 12, 2019

B. Checks the grammar and suggest the correct
grammatical sentence

D. Suggests the paragraph spacing of the
sentences

B. ST &I AT T & 3R FET Aot arey &
T & &

D. arerat & Y RiEFT T g2riar &

B. Tongue
D. Skin

B. SireT

D. caur
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Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
this pair:
Vaccination: Body

A. Injection : Disease B. Glasses: Frame
C. Pesticide: Plant D. Medicine: Cure
Q41. w& fomrew o, St freforfaa st S e feama 2

ZIeRTeRTT, IR
A. 3teRreT: 9T B. TRAT: %A
C. Freaere: qier D. Gar: el

Q42. Fill in the missing term: 50, 55, 61, 68,

A. 76 B. 71
C. 75 D. 73

Q42. srafestfir s wit: 50, 55, 61,68,

A. 76 B. 71
C.75 D. 73

Q43. In a code language, if RHYTHM is coded as HRTYMH, then MUSICIAN will be coded

as
A. UIUSICAN B. UMSIICNA
C. UMISICNA D. MUISCINA

Q43. afz v e w1 & RHYTHM =1 HRTYMH ferar smar & @ MUSICIAN =t @1 ferar smom?

A. UIUSICAN B. UMSIICNA
C. UMISICNA D. MUISCINA
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Q44. g

If ¥3 =1.732, then the value of V3 is
A. 0.645 B. 0.447
C. 0.365 D. 0.577
Q44. =

afe V3 = 1.732 @t V3 o5 wr feraem 2mmr?
A. 0.645 B. 0.447
C. 0.365 D. 0.577

Q45. A dice is thrown once. Find the probability of getting an even number.

A. 3/2 B. 1/6
C.1 D. 1/2

QA45. T U FI TF a1 G AT 8| TF TH HEAT e i EramT ST

A. 3/2 B. 1/6
C.1 D. 1/2

Q46. The ratio between two numbers is 4 : 5. If their Least Common Multiple (L.C.M) is 180,
find the numbers.

A. 30, 45 B. 36, 45
C. 45, 60 D. 54, 60

Q46. 21 datt % sfter b1 s1qura 4 1 5 21 e ST ere wwigEdk (o1.9.9.- LCM) 180, & r @it dearsit &1 g

iECAK]]
A. 30, 45 B. 36, 45
C. 45, 60 D. 54, 60

Q47. John purchases 20 dozens of toys at the rate of Rs.225 per dozen. He sells each toy at the
rate of Rs.25. What is his percentage profit?

A. 45.23% B. 35.55%
C. 33.33% D. 56.23%
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QA47. St 225 w93 wfd & & & & 20 a5 Raci Tiedr 21 98 T e @i 25 w03 1 & & S=ar 81 39 A

wfeere ferer 87
A. 45.23% B. 35.55%
C. 33.33% D. 56.23%

Q48. What is the name of the device used to detect current in an electric circuit?

A. Ammeter B. Voltmeter

C. Wattmeter D. Galvanometer

Q48. ue fergra wftayr § fergga emr b1 A ohT % fo o Suehtor T SRqmTe foRaT ST 27

A. THHAICT B. dreeHeT
C. grediex D. deasdieT

Q49. How many atoms of oxygen are there in one molecule of ozone?

A. One B. Three
C. Two D. Five

Q49-3ﬁ6ﬁq%@a@ﬁﬁm@m%ﬁmﬁwéﬁ%?
A. T&H B. dieT

C.ar D. g

Q50. Which of the following is NOT a part of the lungs?

A. Bronchi B. Duodenum

C. Bronchioles D. Alveoli
Q50. foer # & =, F6 1 T fewa 7 272

A. SIS B. f3assH
C. sifh3ied D. ufeadrer
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Q51. Which of the following bus determines the location where data or information should be

sent?
A. Data Bus B. Address Bus
C. Control Bus D. System Bus

Q51. frferfaa & & = ot =, 3 Ta i Fratha Fdt , e Se1 = g St S =nfen?
A. seT9d B. U39 §9
C. &gid 99 D. REcH a8

Q52. Which of the following memory helps to improve the performance by storing recent data
and information?

A. RAM B. ROM
C. Cache D. Hard Disk

Q52. fomfafiad # & i o A, BTt & o 22T 3 GErredt 1 HEid FC o, FeeH i SEat S § Heg Hidt §7

A. RAM B. ROM
C. &1 D. gs Bt

Q53. Cathode-Ray Tube is used for .

A. Monitor B. Printer

C. Plotter D. Scanner
Q53. efre-t zgm =1 3 fore swamT fopam St 2]
A. Alfeex B. ficx

C. wleX D. el

Q54. What is the main function of operating system?

A. It needs an environment to run and perform B. It's a hardware which operates the computer
task. system.

C. It acts as interface between the end user and D. It is just any other applications like MS word,
computer hardware. Internet Explorer etc.
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Q54. sfuxfen fercen w1 wea @ 1 27
A. 38 Tollel 3R 1 A & T ATcTeaRoT &Y HERIBAT B, T§ Ueh GISA;W ¢ Sl heged FaEeH i Farferd il

gl & gl
C. I 3id 3TNl R HTYE FT8AI & dId eI & D. FHHT 39ter, et off viteeheret & &7 #f fomar o
O H FE A Hehell §, S d3, $eTelc TFECARY 3TiE |

Q55. A collection of related classes can be named as

A. Collection B. Abstract Class
C. Interface D. Package
Q55. waftmamit w1 faa o Wt 3

A. TIE B. 39 a9

C. s1%hd D. Yt

Q56. In which language instruction set commands are written?

A. Programming Language B. Machine Language

C. Assembly Language D. C/C++ Language
Q56. forar vt % e @z § iy fo@ s €2
A. SranfHeT sTeT B. #efieT aTrem

C. 8ol ST D. C/C++ #19T

Q57. A low-level language which represents various instructions in symbolic code and a more
understandable form is called:

A. Programming Language B. Machine Language

C. Assembly Language D. Algorithmic Language

Q57. us fr-watir T St eftertenes die § i et Ifafiiea st & 3R T 1R awer 3 ©9 e 8
A. SYITTHAET ST B. #efe sem

C. 3r&eelr aareT D. TeanRufAs smrar
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Q58. Which process manages the implementation, operation and maintenance of a physical or
virtual device?

A. Device Management B. Operation Management

C. Configuration D. Installation
Q58. 3 =t whrm, v a1 st feamsw ¥, Fritr, TaTe 3R FeTT F yaET Fdt 37
A. f3arsq geteT B. TdTeleT UaEleT

C. R=aw D. TAT9AT

Q59. Which of the following is not a criteria for scheduling?

A. Turnaround Time B. Response Time

C. Waiting Time D. Request Time

Q59. frmfafga @ & =i @1, TheglciT 1 AIes, T8 87

A. TH3RT33 TBH B. {¥UlH TIsH
C. aféamr esa D. Rea¥e esA

Q60. In the computer system, a number cannot be represented in

A. Binary B. Octal

C. Unary D. Hexadecimal
Q60. sroper someft #, _ # vk s ohn wifferes T foham ST wekr 21

A. SIS B. 3ifeea

C. Tl D. gerarsfaser
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Q61. A situation where a set of processes are blocked because each process is holding a
resource and waiting for another resource acquired by some other process can be named

as.
A. Synchronization B. Deadlock
C. Blocked State D. Waiting State

QO61. ¥ feurfar ot o T o STl B, STRT WTERATSY T U W S, 81 T 8, i Yk UThAT, U HETe i e
T 7 ofit forelt o= Temer ot wrelter o T 7, o forelt a1 wiskam g, srftmfe fera 2

A. TSI B. 33dlleh
C. sdigs BT D. afdT we

Q62. What is the correct order of state of processes?

A. 1. New B. 1. Ready
2. Ready 2. New

3. Run 3. Run

4. Wait 4. Wait

5. Complete 5. Complete
C. 1. Ready D. 1. Ready
2. New 2. Wait

3. Wait 3. New

4. Run 4. Run

5. Complete 5. Complete
Q62. wfrmmsit it fearfy 1 =&t 35 7 27

A 1.7 B. 1. &

2. 3E 2.79

3. & 3.3

4.dc¢ 4.9¢

5. hedeilc 5.%Fqeilc
C.1. % D. 1.3
2.7 2.9¢

3.d¢ 3.7

4, & 4. 3T

5. HFTeilc 5. HFTeilc
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Q63. The process of breaking up the free memory space into smaller part is termed as

A. Memory Allocation B. Segmentation

C. Fragmentation D. Partition
Q3. 7 Fuirdt T 1 Bre Wit & e h ABFA R e ST ¥ |
A. AART TalRe B. qaHCRA
C. ST D. uréferet

Q64. Which type of structure is used by directories to store files?

A. Sequential B. Unorganized

C. Sorted D. Hierarchical

Q64 it bt wiareia et % o SRSt aTer Fher SToh 1 G 61 ST fopam St 27
A. FHAECY B. 3r&aried

C. §ics D. Aofiecy

Q65. Which of the following a problem with Concurrency?

A. Producer Consumer B. Bounded Waiting

C. Busy Waiting D. Deadlock
Q65. frmferfiaa & &, ‘Fihiee’ % wrer, i € T 87

A. NSFER HEGFT B. sf38s aféar
C. fasir aféar D. Ssdlleh

Q66. How to pass command line arguments in Java?

A. javac ClassName.class argl arg2 B. java ClassName.class argl arg2

C. javac ClassName argl arg2 D. java ClassName argl arg2
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Q66. s11q STaT # FHIE AT qoh HY I FW 87

A. javac ClassName.class argl arg2 B. java ClassName.class argl arg2

C. javac ClassName argl arg2 D. java ClassName argl arg2

Q67. Which of the following is a sequential circuit?

A. Encoder B. Multiplexer
C. Demultiplexer D. Flip flop

Q67. fmferfae & & = &1t SRl afde 27
A. TSt B. AeIColday
C. SiHeCITAFAR D. foFea wara

Q68. Which problem arises due to multiple inheritance in C++?

A. Deadlock B. Diamond problem

C. Dining Philosopher Problem D. Lock synchronization problem
Q68. C++ #, wediuet sTRREH & HRUT, I © THE, 9 Bl 27
A. Sl B. SIHS HHEAT

C. s haaw gaear D. diehr RApITgaereT FAET

Q69. How runtime polymorphism is implemented in C++?

A. Using method overloading B. Using operator overloading

C. Using abstract classes D. Using virtual functions

Q69. C++ 1, wrergn diehdiftem s, fore err shratfaa fopar sirar 372

A. 3Naefser fafer s 39T wie B. 3TOReX aRGITSIT T YA leh
C. 3 ot T 3T D. 3selt it @ ST HTh
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Q70. Using which of the following memory, the performance would be faster?

A. Registers B. Cache

C. Main memory D. Virtual Memory
Q70. fmrfafaa # & =i €t AU foreft afi % gawi i o et 27

A. IorEed B. her
C. AT AAD D. FE37el AART

Q71. Wrapping up of data under a single unit is called as:

A. Encapsulation B. Abstraction

C. Polymorphism D. Inheritance
Q71. foreft fimmer afte o dea 2T ohi eied T el ST &

A. TehIgelRlel B. TsmeHIA
C. UTeTARREA D. SieReH

Q72. On which concept inheritance works?

A. Data hiding B. One object, multiple forms
C. Reusability D. Interfaces

Q72. zf¥T fFg GoeTAT T T H1T FET 27

A. 2T &fgar B. Ue 3ifsalge, &5 &7
C. g D. E%d

Q73. Objects communicate with one another by sending and receiving information to each
other. This process is termed as:

A. Message Passing B. Object Passing

C. Method Passing D. Parameter Passing
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Q73. sifosrres TH-qE F TN TH-GHL T FEHT S ST 0 Hd G HaT T 2 30 JIEHAT T Hal STl 2
A. AOST TTiger B. 3ifssiere arfdiar
C. AYs qrifer D. IR Trfer

Q74. Which of the following is arranged in the correct order of scope of the access specifiers?

A. default B. default
public public
protected private
private protected
C. public D. public
default private
protected protected
private default

Q74. fomfafad § & =i, wrE Sfwred % TR %, wdl %y § oo 27

A. f3wiee B. f3wiee
ICCED ICCED
qieaes gsde
ST gic#es
C. gfsels D. gfse
fSthice g1sde
1°) [Tk o] [Tk
grsde fBwiee

Q75. What does ATL in ActiveX control stands for?

A. Active Test Library B. Active Template Library
C. Active Tools Library D. ActiveX Template Library

Q75. wfres X fgmor if ATL = 2?2

A. tfFea ere aEed B. Ufded eFTale aSsd
C. Ufded god olIgsiiy D. tfdeq EFuele assr
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Q76. Which of the following cursor type in ADO can move to any record in the recordset?

A. Forward Only B. Static
C. Dynamic D. KeySet

Q76. ADO 1, fr=feifiad & &, 9 & TR & FEY, ‘Feprede’ & foret off fais § S gerar 87
A. BRAS 3=l B. Tefew
C. S=TfAs D. fide

Q77. Which of the following is correct about Visual Basic?

A. Case sensitive B. Supports only unstructured data handling

C. 'Using' is used to release unmanaged resources D. Optional Parameters are accepted

Q77. forqrwret aiftrer 3 aie  fortferfiae & & =i &1 wel 22

A. Tg Taga1eer ATHeT §| B. Ig hdel AT 3eT &3l T FHIT Far g

C. HATS JIST ‘&1 3UANT T FHUAT & T XA D. T§ el debiedeh ATIGST &l FAIHR AT o
& forw o Srar g

Q78. Which type of programming language Visual Basic is?

A. Event driven B. Domain specific

C. Scripting D. Low level language

Q78. farperer Siftren forer s sl st o 27

A. sdc f3ad B. 31A« Tufafthe
C. fepfeear D. faF TR fr o

Q79. Which of the following is not the type of JIT in Visual Basic?

A. Pre-JIT B. Post-JIT
C. Econo-JIT D. Normal JIT
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Q79. formfafiad & & i r forgaret fteh #F JIT 1 Tk b = 372
A. W-JIT B. 9i&e-JIT

C. Tla-JIT D. ATHSA-IIT

Q80. Abstract class A has 3 abstract methods. Abstract class B defines only 1 of those methods
as it extends class A. Class C extends class B and implements the other two methods of
class A. Which one among following is correct?

A. Code would compile because all the methods B. Code would compile because C is not inheriting
are not defined by B A directly

C. Code would compile as multiple inheritance is D. Code would compile because all the methods of
used class A are implemented by B and C

Q80. w gz =t A i 3 s Rt €| ez it B, 37 fafte f & St 1 st aftwifie shedn 8 it 7€ ot
A = forearita wear 8] i C ot B ot fored ™ shear @ 3R et A % 3177 &1 qlishi 1 AN T 8| STel 3779 59 Uiged
1Y Goho™ HLd 8, a1 (9F | & i 91 8 ol GHreHT 27

A. 1S Hehfeld I FiTeh Felt fATET B gaRT IRATNT B, IS Hehfeld M FAiTeh C €T A &l Tarad H =181

TeT 8 f&er B
C. IS &I Hehfold [T ST Fifeh TehITRh dAIhdA D, IS Hehfold HaN Fifeh Hall A & T Aehi T B
T 39T fohaT ATl B AR C g@ry o foham e g

Q81. What is true about decomposition into modules?

A. Increases complexity B. Decreases collaboration

C. Makes it easier to test D. Increases duplication of code
Q81. diger # s1que o o # 71 T 87

A. 388 SAfeerar sedr & B. 30X WA T &

C. IE YETUT AT HTET FeArel B D. IE IS & FCellhelel T TSIl ¢

Q82. What happen if static method is declared in abstract class?

A. Execute successfully B. Compilation error

C. Run time error D. Error when inherited by another class

December 12, 2019 Page 24 of 28



Haryana Staff Selection Commission

Government of Haryana

Adv. No. 12/2019, Cat No. 09, Computer Instructor,
SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA
Afternoon Session

Q82. wsp feort =t # wep wordere ot oh f A T AT BN
A. Ig ThAIdTaeh TFHEIe gram B. I8 T Heholel JiC oM
C. g A-TEH W &l D. ga{l #af gart favraa & fAes w e

Q83. import static java.lang.System.*;

class Test {
public static void main(String args[]) {

out.printIn("Test class executed");

¥
¥

What will be output of above code?

A. Compilation error B. Runtime error

C. Test class executed D. No output. Only execute without errors
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Q83. import static java.lang.System.*;
class Test {

public static void main(String argsl[]) {

out.printin(*"Test class executed");

}
}
I IS FHT ASIE T B2
A. Tehelel e B. TeersA Ife
C. CFC Folrq TFHIeFgCsS D. 1S IT3CYE AEI M| shael AT & for fersarica

Y

Q84. Which of the following is not a direct pointing device?

A. Touchpad B. Touch screen

C. Mouse D. Joy stick
Q84. freiffia # & H, TEide Tl feared, T8 37
A.Tads B. T &hIA

C. #AT39 D. 3T f&es

Q85. How to represent a negative in Sign magnitude?

A. The first bit will represent sign. Sign bit '1' B. The first bit will represent sign. Sign bit '0'
represents negative sign. represents negative sign.
C. The last bit will represent sign. Sign bit '1' D. The last bit will represent sign. Sign bit '0’
represents negative sign. represents negative sign.
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Q85. a1 wrg Afiegs # wh e it wdfafie 4w §?

A. gger fae arse &1 gfafafca sem| asa fae 'l B. gger fac arse &1 gfafaferea siem|ass fae 0"

eI a1 wfafafiea s eI s & wfafafica Hem|
C. 3ME foT arse &1 gfafifica Ham| ased 9 '1' D. 3mER) f9c a5 &1 yfafaf®ea aem| | arseT 5 '
eI w1 wfafafiea s eI s & wfafafica Hem|

Q86. Using which data type in C++, a user can write information to files and read information

from files?
A. if stream B. of stream
C. f stream D. iof stream

Q86. C ++ 1 forer 21 YR T STANT Lo, IS ITANTEHAT B1gal § SRR forg Tt & 37, Frealt & SR U¢ ekl

27
A. if & B. of ¥&H
C. f &+ D. iof &

Q87. What happens when user defines a parameterized constructor in Java and not default
constructor?

A. User needs to define default constructor also, B. No need to define default constructor.
else compiler will give error.

C. User needs to define default constructor also, D. Defining default constructor is mandatory.
else there will be error at run time.

Q87. o 2 v 1S SwwTRat Java & e Sefier fiftfa shegaet s aReia st & 3 Rewiee shegaet 1 AE1?

A. HUTSeR T 3 fe@muen, Fife 3uderehdl & Shieec  B. fSWhiee degacy il IRATNT el $I 32T a1
FHrgael Fr Y, gRT FLa g gl

C. 39AIThdr Y fShice HeeFey TRIATNT Tt Fr D. f3wiec egaex HI IRATNT AT IfAard B
ISR &,
YT & A WA gl
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Q88. Which of the following is not true about destructor?

A. Releasing the release locks. B. Closing all the database connections or files.

C. Releasing all the network resources. D. Need to call externally.

Q88. frmfafiga & & i fekgaet % o & &= & 27

A. T8 RelrsT dfeh T Relret e &1 B. Ig T3 3T FelarereT AT BIScll Tl §¢ Y &l &
C. Ig gl Aca® daru=it & Relror aar Bl D. 38 g ¥ { FoATAT AT AT

Q89. What happens when class is inherited in protected mode?

A. Public, private and protected members of the B. Public and protected members of the base class
base class will become protected in derived class  will become protected in derived class

C. Public members of the base class will become D. Protected members of the base class will
protected in derived class become private in derived class

Q89. o1 Bra & < T it wfa Wre F gRfte T ST 87

A. 98 T3 & Hdeiiereh, Tl 3R SR8 Teed, egcteal B, S 97 & Ardsiieh R ARId G e, egcdeal def &
ot &, TfE@a & S| fard g Smea|

C. S FoIH o HIdolleleh HEEY eqclee G31 H W& &1 D. 97 F91 o W& HeTg et adl # TSl g S|
TG |

Q90. Which of the following data type stores memory location or address of variables in C++?

A. Pointer B. Index

C. Double floating point D. TypeDef

Q90. C++ #, freaferfiad # & 1 @1, 2T YohR AUH-A1hT A1 AN o TZH i LN HLdl 27
A. 9ised B. S3%@

C. 39T Fallfear Uige D. T8YSH
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